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SET — 4
. Hig .
Series : HRK/C Code No. 52
. W 37Ee o |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

o FHUAT ST F A o6 37 TH-IT | fsd T2 16 € |

o UTA-UA H e T1F il 3R T T g TR & BT SW-IRAH % JE-TL W o1& |

o PHUAT ST FX A o6 T UA-UT H 16 WA € |

o  FHUAT YT T ITX feTEAT J& HIA | UL, UI BT HhHih avd ford |

o U UH-T F UgH & U 15 e & 9 foan T & | w9 o faeRor g § 10.15 &9
fepam ST 1 10.15 1 § 10.30 ST ok ST hefel T9-031 % Ui 37 39 31y & SR o S
TR T T TR el Tt |

e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 16 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ETCHSD eATgT - I

SUMMATIVE ASSESSMENT - 11

(Tpam)

SANSKRIT
374ty : FRIEFIY quIHT: - 90
fEiia aa - 3 gue 3ferHad 37 - 90
Time allowed : 3 hours Maximum Marks : 90
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TUe: & : IITSATI - TSI (3TafSars STTaie ) 15 3T
SECTION A :  Unseen Reading Comprehension

TUe: @ AT (TETCHeh 1) 15 37T
SECTION B:  Writing Skills

@gue: T : FTIIIHSATRIM (ITTIIH SATHLT) 30 3T
SECTION C: Applied Grammar

TuE: g ; ufea-srasiey (ufed- @) 30 3T
SECTION D : Reading Comprehension

frcam:
Instructions :
(i) 3T FeT97 TeER; GUST: i |
5 TT-TA G AR @IS E |
The question paper has four sections.
(ii)  JF GUSH TTUHeT IR ThI T T FHHT AGHIN |
Je GV 3 IR U & T8 W HT @ org 817 |

The answers to each section must be written at one place.

(iii) TG FITTAJIRY STTFTHT AGAIT |

9T -9 @ AR 97T 39 & fora1 &1 |

Write the question number according to the question paper.
(iv) GV FoHT IR GEFaT G |

Y1 37771 & IR G 7 1718 |

Answer all the questions in Sanskrit.
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quE: — %
SECTION - A
TS - ST (TATSAT TG

Unseen Reading Comprehension 15 A

1. HALIIREa 3TT=eg qiSw JEaueH dhd- 3L |
Frfeiaa sTg=ee I Tgeht e T Te1 o 3T T%hd § ST |
Read the following passage and answer the given questions in Sanskrit.
3TEHTe T TG ATATae] TATeRol HeAd | TATeRUIGHU STk Sed I: IH: &0
I & o YT | TeRore &1 31T I shaeq 31fed | e 1emd iy fafae:
J&TT: UAURT: | FEror forrer: Ui 3uuY: Juiided: | §o SGuUISTENT JTNM: TR
TG o1 G ST | HHESTHM, 3Rt T 7 IIaR: | JEHT S =d: e |
TITRUT &0 Td 3TETeh &1 wierstd |
AT :
I T 3T |
T Weg § I R |
Answer in one word. 1x2=2
(i)  3TIHRC HA A UHE: ?
(i) 3THTeh WY Haed Ty AT ?
I YUEmeRH 3T |
ot areRt | I €T |
Answer in a complete sentence. 2x2=4
(i) ATERUTIGYUN fob warfd ?
(i) R ITHT o1 Gt o ST ?
[ Yeaideheuw: 3faaq I far fored |

fau v forhei © & 3fea 3T e fafau |
Choose and write the appropriate answer from the given options. Yax4=2
(%) ‘wfasafa sfafsramaesr fh #ueq STg=se T 7
(i) 3w
(i) TR
(i) &
(iv) 9&m. |
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(@) T 3o TR 3 TG HE TR ?
(i) @
(i) &=
(i) SfeT
(iv) TFTEROT |
(m : 3fd fereroraeey fasrsag fopy ?
() 3=
(ii) e
(iii) HTHTA
(iv) €O |
@) A9 3fafsraTe foh qatede Tt ygey ?
(i) o
(i) et
(iii) wfersafa
(iv) Hd |
IV. 37 =0 % Fqfd 3Heh d&ha fored |
39 3T=¢ o 1T U 3fives Teehd ¥ ff |

Write the appropriate title for this passage in Sanskrit. 2

2. ARG YeTeh HISeaT JGTIeH HEeh 34 |

frefetfiga veiteh = Tgeht feU TTC Sreri < STt Tep H T |

Read the following Shloka and answer the given questions in Sanskrit.
“ITTTEIYUIY ST T3 |
YR YOI 919 S |17

PELIH

I U 30 |
T I1eg H IR ARAT |

Answer in one word. 1x1=1

YUY T T AT 7

I YUEmeRH 3T |
ot areR H I T |
Answer in a complete sentence. 1x2=2

(i) Uk wfd af< ?
(i) qoa foh wafa ?
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I vefdfasmher: 3faay 3w faan foreq |

feu o foehedt # @ 3fea I g fofam |
Choose and write the appropriate answer from the given options. 1x2=2
() “ITIHR: 3fauee b feiade e JgHy ?

(i) e (i) 3B

(i) TETgIH (iv) quI
(@) ‘gEveHn 7Y foh Tatme verh g, ¢

(i) e G

(iii) 3ATIGA (iv) I

ws: — @
SECTION - B

TSR (TEATHSH -5

Writing Skills 15 A

3. 3 ufd foTReaH 3149 AeIeHgRaa [ 34: foed |
319 ! for@ e fferRed o= <t megwn W feu 7w wregi <t wemrar & ot o g: fafaw |

Complete the following letter written to your brother, with the help of the words given in
the box and rewrite the same. “ax10=5

(i)
a__
S[ATETS: |
3TEHA (iii) srfen | w31y @ el 31y sfa = | wrarfiad @ wde (iv)
| TETIST STTIHEHETR TEH, (v) | e ety afe (viy  sesfuafe
TS | 31fer o qamren S1f% & o (vii) | I TSR (viii) At
3fd o1 e | S & (ix) | aw: Toear: o S[ehTeT : |
o (x)
o e |

AT
iRgsafa, amordia:, e, Twre, = 31 |,
IS, JTTSAT, P, AFT=IH, TRA: |
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4. 319 Ve fodl SEAT AN YCTRISEH] Herdal U4 AT §&ha- forad |
= feu e o= w1 i wepwT # feu e wregi <t wERIaT | Ui HEha TRl | Hif |

Describe the following picture in five Sanskrit sentences with the help of the words given
in the box below. 2x5=10

A

I, o, Tafaart gemfon, gem: fafa, @@, e,
eI, STeAg=AvT, gitay, af |

JEET/OR
HNTICTRISEHT HgRR e fowem stfesher wafiy: Tepaame): Thd 3d<es forad |
AT # feu T sreq} sht HErrar @ Fefeiad fowa ot gl S%ehd Sl | T S0s [Gnag |

Write a paragraph in five Sanskrit sentences on the following topic with the help of the
words given in the box. 2x5=10

‘IreTeh faener:’
LAl

Teremerr:, forsmret ey, qeaehter:, af, frerht:, Qi @iv=d,
ureaf, shietes, Weadr, I, Yaf~i, BT, TIHIe:,
HEhAIEh: |
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Qug: — T
SECTION - C

AITLHSATHTT (FITITh SATHLT)
Applied Grammar 30 3

5. ey fErgauey - afF=sg a1 Fe foed |
TR s W@iferd Ugi § |- 37erET "o sich fafan |

Write the underlined words of the following sentences after joining or
disjoining Sandhis. 1x4=4

(i) Ffe + i | sicTsht Ty qE: SeTe: G : |
(if) el SI: STTY JOHf |

(iil) T + A T Fretq STMHMR |

(iv) 37 hfeasfd |

6. ARG WITgaUgHT THTE faurg a1 Jeafasheds: e foad |
FrfeTRaa el ® {@iehd UGl sl THTE 37aT Tourg fou gu foshedi # & et fofla |
Choose and write the correct compounded or expounded forms of the underlined words
in the following sentences. 1x5=5

(%) TR = o9 9 ;|
() Tohweg=:
(i) TE=ARIRR:
(i) Tarfrem= |

(@) wfgar o ¥: st |
() wfcgde o= 4:
(i) wfcgaq 37 0T I 4:

(iil) A= SHOT: Ufcgay |
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(1) THA ITTTHT WIS hUofiay |

(i) eERR
(i) IR TmRe
(iif) FEREAERT |
(o) g sTferer feremerd Tesf |
(i) WdguITE:
(i) g id afer =
(i) oTd g9 T = |
(¥) TH: I 9R=d g & |
(i) ™
(i) SHI™H

(iii) IR |

7. AeNfafgqarey WerfgaueH Sl T fass a1 3tuay 3w fasmeus: faan foraa |
Frfeiaa aTerll § TehfsIeal hl SISt AT g2 Shieh 3rad IR faehed] § § Feht feThaT |

Write the underlined words of the following sentences after joining or disjoining suffixes to
the roots or words, selecting the correct answer from the options given below : 1x5=5

(%) T T + I STeToh: AISTSAHTLH ITqred HUfd |
(i) =

(i) "By

(iif) TeB
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(@) uftere qge Hel S |
(i) #8+=H
(i) H&d +
(iii) H&d + 99 |
(1) <hfaT Tohd: X + qc qUH o |
(i)  gretder:
(i) e
(i) Grexdmm: |
(a1) wsT HH i shisfd |
(i) T+
(i) T+R
(iii) g+ |
(8) % &9 + W SET: T894 | |
() "
(i) YIHH:
(iil) HIHEA |

FfTRgaaTeRy NREHTH T ex: 3had: sremue: i forad |

frefarfiaa amertt # feeeerHi <t qfd werm o feu mu 3fea srerme & g Hifs |

Fill in the blanks in the following sentences with appropriate indeclinable words

given in the box.

()  heITN: 3T st ?
(i) T Teh! et Y& |

(i)  IOYesR: fshard dred IRt Sum: |
(v) &+ F%|
(V) STEHECHE A F: geqan e |
AT
m,w,gﬁr, T, afg: |
9

1x5=5
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9. 3P fere TR TR |
3fra HETIe R TRt ot HIfT |
Choose the correct numerical words and complete the sentences. 1x5=5
(i) o g gt | (I, =dE:, 9@R:)
(i) R weATH 3rEred | (e =i, =)
(iii) <: T vt | (g, e, 3)
(iv) 3T heTr B gaf=d | (o, fomman:, fawrfa:)

(v) _ TSW YdhHar faeaf | (ThiaH, Ty, Th:)
10.  SFUIfARgqaTeRy Wifgaued SRGH A | Tedfasheds: 3fuaq Iw A sRgue aoe
forea |
freaferfea arert & t@ifera ug 3mrg ® | fou mu foesmedt # @ 3fad SR A 31315 e A
Fenferd s fafaw |
Choose the correct answer from the given options and correct the underlined
incorrect word in the following sentences. 1x6=6
(%) QT TTgagETeh <1 TeTH Hi= |
(i) eq (i) T3:
(iii) dTaT: (iv) et |
(@) = 378 SRorHt Ty |
() i (i) TT=sq
(i) TTSTE: (iv) 37T=sq |
() ©1: SRt w3 |
G d (i)
(iii) @t (iv) T |
(|1) 378 Rll: AT
i) g (i)
(i) =Ty (iv) == |
(®) @ﬁ@: ST WWI
() 3 (i) 3MH
(iil) IHHIH (iv) 3HHM |
(=) @5 fi: 3rfe |
() feefor (i) Tt
(i) oMy (iv) =g |
52 10
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gue: - g
SECTION - D
gfea-Taaieay (qfsd-TasieT)

Reading Comprehension 30 3

11, SALITTREd Tere, T A1l = IS Sy ST §&hdad for@d
frferRaad e, wer 3R ATeTST ohi ugeht feU T AT < I Teehd | forfan |

Read the following prose, poetry and drama passages and answer the given questions in
Sanskrit.

() T
“31H TEET Tfdgard: T JesauT: ifa=rd fohg 3¢ aad o va aefieufa ?
318 FUTT e 7u Higeft 9 AT | TRIRH 39 3 STeidEE 7Y et
T | 37 Tfd o Qe st fafa e grefed steed — ww ¢ Afe w
e ufoTorfy, afe angermiaay 39 = wIeig o |7
AT
I THIe 30 |

Th 915 H T T |

Answer in one word. 1
‘STRITY(d AT S 3 h: = ?
[ YuiEmeRH 3O |
qufaTer § IR ST |
Answer in a complete sentence. 1
TeHARY: gEdfg fohH 3feed ?
[ Jedtaehed: faaq S e foreq |
forg T feehert & 3for e SR forfe |
Choose and write the correct answer from the given options. 1x2=2
(%) =gl 3fd wquew fsramg forg arfe
(i) aghRUld
(i)  39eq
(iii) Fg~fferd
(iv) 3rfa=md |
(@) IFese TAHn 3f foersruesy fesmur foq arfeq 7
(i) e
(i) TEremm
(iii) $urTg
(iv) TgSTead |
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(3) 9=
“ FTFCATH: 2 VAT @ = |
T FAGTET HH | R Hertd = |17
ST
I e 3T |
Toh 91sg | IR T |

Answer in one word. 1
MY & 99; 359(d 7

I qofareH 3 |
qufaTer § IR G |
Answer in a complete sentence. 1
R ey o 7 eoflemy 7
[ Yedtdeheud: faay S facn foreq |
few Tu ferenedt # @ 3fra 3o gt faflaw |

Choose and write the correct answer from the given options. 1x2=2

(%) “FA 3fd opardee v fmfe ?
(i)

(i) =
(i) =:
(iv) 3ATeE: |
(@) oA’ T Tl foh I8 T, 7
(i) st
(i) @
(iii) o=
(iv) e |
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(3) eI
“TEATYRN — 3T ! Taq fGaTT Sucehmuee feurd HsHeh-RRgy | 376 &R g
IR TEIG;: TTETRIehT: | 3TYHT 3¢ forsl a9ard |
et — 318 MY 3¢ TIMY | 3¢ q ‘qargmen 3 ufig: ve: |
RATRR  —  ER=I% AUFAH, | T R qaTg” 3 &I U9 31 S1gHe: |
AT Shgrreen fremeEren weft sy | clifederae Sy

ISP af= |”
BELIK
I THUed 3 |
Th 1eg, H 3T T |
Answer in one word. 1
feamT — SucrRmvEs T feuay 7
I qofareH 3 |
qufaTer § IR ST |
Answer in a complete sentence. 1
S ECEIFACEINE A gt ?
[ Jedaehed: faaq S e foreq |
fou U foehedt # @ 3fua 3w g fetfau |
Choose and write the correct answer from the given options. 1x2=2
() e sfiem & faerme T ey 7
(i) Sgfireom
(i) He:
(i) et
(iv) FO |
(@) S glafshaTTesd shded 31 fod 7
(i) =H
(i) 3
(iif) T,
(iv) e
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12.  JefaRaaar: Hy=: agfad via foereus: o foad |
frefafiaa et o1 agfad wre faeredt 8 & gt foafa |

Choose and write the correct gist of the following sentences from the given
options. 1x2=2

(%) TGl aLor: G |
(i) &= 3ATUE: T 39 WAl |
(i) AT TRTETERA SHT: IR Tesi=, qoe SRiee ST STue: aif=T |
(i) Toromnt S: =1} vt 9w |
(@) ArefRfodes g &6 &9: e &h: |’
(i) 79: &t fyafa, se6: &R fiafa |
(i) &9 9HET F 9Ul: Joq: vaid |
(ili) G STored 9 wed fob g o = STe1d_ 7
gl forapyel 1 Ug 59 96 9 WGl g9Ad |

13.  AUTA: Hfaaquer e STaifaRad-vahgae 39 T4 |
A H B goferd ug ARt Feferiad ST wettehi o 37 sl quf shifvg |

Complete the prose order of the following two shlokas by choosing the appropriate
words given in the box. 1x4=4

(%) “ITffd o T Tsh QgAY |
IR wfufd fou | geavag seifra 117

I — fawl | I =ild wE qEeagd (i) d wiffay | waq o
(ii) STEf |

(@) “3TV: qUHHIST T o Tuihlfes: |
T =fereiss fia:, @1  Fiaarsiie (17

IT: — HATY: Teh: &0 AN (j) T A | | 9q R (i) qd:
Jfereht 76 1 7

Al
Ik, TUishIfech:, T, fia: |

LX)
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14. @ETfgaUer S TEAFHIT Fod |
J@fehd el o MR T Y¥AHIT HIfT |
Frame the questions on the basis of the underlined words. 1x5=5
(i) fergm HgeheTar=H HAfd |
(i) EEEIY: 7 W |
(iii) ferfert: Toer: wmgE: |
(iv) w foresmm argd wiea |
(v) STeTehl: | shigf~l & |

15.  JfARIAaTRITH TeAThRETERTT for@d |
FrefcTRea eIt sl TR o STTER fTRaT |
Write the following sentences in their sequential order. Y x 8=4
() Torrge Huen o= urg few Tt |
(i) GIfg: Sremara: HiThRS Pt Hoech o TSl |
(ii) eI WY grEfE e |
(iv) 3% ¥co guyls: era od & Tes(d |
(v) H: TS Gical Gaviehats] ST |
(vi) 3¢ e gRefg: =t T ey 3T |
(vii) T AT SR T FHIST(Toih: TeSeHm: T8 i T=oid |
(viii) T T: Tegaurae W fasd araf sonfa ad o &3 ueh: gavigidena: faed |
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16. TETfgaueH yagary 31 facr fored |
T@iferd UGl o TET % STTHR 37 IR oAl |
Choose and write the contextual meanings of the underlined words. 1x3=3
(%) HTeTe el UM F: 7= |
(i) Sfra:
(i)  TTOTTAT:
GHREISIESIS

(@) =ed ! 7 ST FelT 501: <ot JehiaH |
(i) sHTH
(i) ol
(iil) THTEH

() 3w IrEUe: e foy: |
() e
(i) Fram
(iii) foamEm™
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